= i & Fr B (1) s=1/5000

1
o s
i
FiEES
AE
FR=TH
NE
‘I — gickgj&’»
ERIBAS 37 (’,//’
AE
¢
/ S
Lt
%? ?ﬁgﬁ
Vid 5 L X
= i = B X (2) s=1/5000
N\
3
®§® REEINEH
i
B SR/
EAEE
EEEE
3 2EE
RN A Gt 8~
X
“7;[ [ R
lL
/ HhBAch Ak %@
%
N
AEES 2 #X

=R NO SCALE

i T35 PR
WMEABETHE 2 TEHRAIEA

EBAR
[#HBh] BFLE#th X
AETVEZE T [800mmsk i ] 1246m
YUR—ILERART T5&
BT UR—IILIEERET 1= 7T
I UR—ILSGILIRRAET 1&Fr
ERERTT ST X (a2 mK - Bk
HHEEYMES AT XS (G2
BT R M SR AT 5 (S ERET]

(B AEEE 2K

AETVIRZET[800mmKHE]  471m

T UR—ILBRRET 198

< UiRk—ILEIERRRET &R

BRI R R W AR R [FEMaZ T oK - Bk
BRI ER T R R iR A R 75 [FHiaREt ]

N
=2 Jite 51 R 2
Ve
= jin E R (1
878m
18 FR
320m
¥MZEEWMLTKER
[=1) FHXIENEEMEILZEED
2 ¥ ;E%%%ﬁ*ﬁ
2Ol ERNE - ERER
# R| m& |5 8] 1+
333m T — =
178m # A i 5% S5A
B % 18 %
| Hi
£ & & e




